Steady-State Sinusoidal Power Analysis

1/6/2021

G
o

—

2Q

Om 60" V

n

-
o \r
AV

| Example:

& e\ S -

AV.

yar
YA

A
A

J
N
—_—

—

L4

A53 /'™

=

A+

o~

15

6

24 12

Vg =

\/

’\

715 Yok

8,
=)

G\
WAV

X X 0% #*

—

\
2

\A/

A q4+ VvV

i 2e)

—

av

2
4

7N\
N'e
[
PR C
)
° 3
> M
g o
N~ rw
P
rw i
g
m «)
_.._ )
d o
S 2
I\-/‘Ih \\_
-‘ l$- :
S>>
AN

\AJ

\‘3.4‘?

Note Title




Example :
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Determine the average power

” - absorbed by each resistor .
o ‘0 gm Determine the total average
Q@ B o S R- power supplied by the source .
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Example :

Determine average power absorbed or supplied by each element .
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Example :Find Z; for maximum average power transfer . Y YY) (915/
Compute the maximum average power supplied to the load .
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